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Young Mature
1998 1999 2000 1998 1999 2000
UK 12.3 12.4 12.5 13.6 13.6 14.0
England 11.6 11.7 11.8 13.4 13.4 13.9
Scotland 16.9 17.6 17.8 13.4 13.4 13.6
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9 2003 12
10.2003 12
HEFCE 03/59
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84
8
92 93
90 6
11. Access Indicators HEFCE 01/69
that 1s, what proportion of entrants come from various under-represented
groups.
12. Non-continuation Rates HEFCE 01/69

in other words what proportion of students do not continue at an
institution beyond their first year there.
13.2003 5 Review of research assessment?Report by Sir Gareth
Roberts to the UK funding bodies? RAE
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